
Math 53 Discussion Problems Oct 29

1. Find the volume of the following regions.

(a) The wedge cut from the cylinder x2+y2 = 1 by the planes z = −y
and z = 0.

(b) The region in the first octant bounded by the coordinate planes,
the plane y + z = 2, and the cylinder x = 4 − y2.

(c) The region between the planes x+ y+ 2z = 2 and 2x+ 2y+ z = 4
in the first octant.

(d) The solid right cylinder whose base is the region between the cir-
cles r = cos θ and r = 2 cos θ and whose top lies in the plane
z = 3 − y.

(e) The solid that is bounded above by the cylinder z = 4 − x2, on
the sides by the cylinder x2 + y2 = 4, and below by the xy-plane.

(f) The region common to the interiors of the cylinders x2 + y2 = 1
and x2 + z2 = 1.
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